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QUESTION 1

When a Security Gateway communicates about its status to an IP address other than its own, which deployment option
was chosen? 

A. Targeted 

B. Bridge Mode 

C. Distributed 

D. Standalone 

Correct Answer: C 

 

QUESTION 2

Which of the following is NOT an advantage to using multiple LDAP servers? 

A. You achieve a faster access time by placing LDAP servers containing the database at remote sites 

B. Information on a user is hidden, yet distributed across several servers 

C. You achieve compartmentalization by allowing a large number of users to be distributed across several servers 

D. You gain High Availability by replicating the same information on several servers 

Correct Answer: B 

 

QUESTION 3

Can Check Point and Third-party Gateways establish a certificate-based Site-to-Site VPN tunnel? 

A. No, Certificate based VPNs are only possible between Check Point devices 

B. No, they cannot share certificate authorities 

C. Yes, but they have to have a pre-shared secret key 

D. Yes, but they need to have a mutually trusted certificate authority 

Correct Answer: D 

 

QUESTION 4

Which path below is available only when CoreXL is enabled? 

A. Slow path 
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B. Firewall path 

C. Medium path 

D. Accelerated path 

Correct Answer: C 

 

QUESTION 5

Match the following commands to their correct function. Each command has one function only listed. 

A. C1>F6; C2>F4; C3>F2; C4>F5 

B. C1>F2; C2>F1; C3>F6; C4>F4 

C. C1>F2; C2>F4; C3>F1; C4>F5 

D. C1>F4; C2>F6; C3>F3; C4>F5 

Correct Answer: A 
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